® www.nenomatica.com neno matica ]F(x) ))

a 00
(a#C) 48 amlo ]y A" oST A=|0 b 0] S1(1JL
1 0c

1

S(NeN) S lag 1, A" o] asl, A=
0

S (2%

N[~ N~

118 ol 1y 5 sl (o5les (JUio

i n(n-1) ,
e 1 a bl 1 na nb+ a
3) = ;(neN) 4) |0 1 a| =0 1 na
01 0 1 o0 1 L
4 10 a b c
A*=10 4 0| S pbadbsey A={0 a b juyl s (BJte
0 0 4 0 0 a
1 x vy
Sl plaST AY s pile pow (gt g ped shaw 4l asb A=[0 1 x| 31 (6Jle
0 01
. 1 2| _ .
Sl plas” A" pgd gt 5 Jgl yaw asl sl A= . ST Jbe
n’(4 n+1(3 2n(2 2"(1

- a1l
gl ot |y AT il A{o a} S1(8JLe



